



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## B.S (Computer Science) 2nd Semester, Section A, Morning, Session Autumn 2025

Registration #	Name	CS111					CSC 104					CSC-303					CSC304					CSC-305					GE161									
		Programming Fundamentals (C)					Social Sciences (Urdu)					Object Oriented Programming					Digital Logic Design					Discrete Structures					Application of Information & Communication Technologies									
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product					
000063537	Syed Imtinan Haider Gardazi (3 De	-	-	-	-	53	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2024-M-A-0005	Ali Sarban *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2024-M-A-0006	Arij Tabarik *	-	-	-	-	-	-	-	-	-	-	F	-	4	-	-	-	-	-	-	37	F	-	3	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2024-M-A-0021	Khadija Batool (Withheld due to Fe	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2024-M-A-0034	Muhammad Ramzan	-	-	-	-	60	C	2.0	3	6.0	85	A	4.0	4	16.0	55	C	2.0	3	6.0	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2024-M-A-0040	Naveed Ahmed *(Withheld due to F	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2024-M-A-0043	Noor-UI-Huda *	-	-	-	-	-	-	-	-	-	-	F	-	4	-	-	-	-	-	-	28	F	-	3	-	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2024-M-D-0010	Hafsa Abbas (Withheld due to Fee	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-A-0042	Syed Wasib Hussain	-	-	-	-	51	D	1.5	3	4.5	66	C+	2.5	4	10.0	55	C	2.0	3	6.0	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2024-M-D-0207	Huzaifa Waheed	-	-	-	-	72	B	3.0	3	9.0	60	C	2.0	4	8.0	55	C	2.0	3	6.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-A-0001	Aayan Haider *	-	-	-	-	72	B	3.0	3	9.0	67	C+	2.5	4	10.0	55	C	2.0	3	6.0	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-A-0002	Abdul Basit Abbasi	-	-	-	-	62	C	2.0	3	6.0	81	A	4.0	4	16.0	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-A-0003	Abdul Wahab Abid	-	-	-	-	50	D	1.5	3	4.5	59	C	2.0	4	8.0	50	D	1.5	3	4.5	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-A-0004	Abdullah Bashir	-	-	-	-	60	C	2.0	3	6.0	75	B+	3.5	4	14.0	55	C	2.0	3	6.0	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-A-0005	Afaq Javed	-	-	-	-	50	D	1.5	3	4.5	70	B	3.0	4	12.0	55	C	2.0	3	6.0	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-A-0006	Afia Ghayas	-	-	-	-	71	B	3.0	3	9.0	87	A	4.0	4	16.0	65	C+	2.5	3	7.5	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-A-0007	Ahmad Nabi	-	-	-	-	61	C	2.0	3	6.0	61	C	2.0	4	8.0	50	D	1.5	3	4.5	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-A-0008	Areeba Rehman *	-	-	-	-	58	C	2.0	3	6.0	65	C+	2.5	4	10.0	50	D	1.5	3	4.5	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-A-0009	Areeza Khalid *	-	-	-	-	75	B+	3.5	3	10.5	71	B	3.0	4	12.0	55	C	2.0	3	6.0	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-A-0010	Danish Mehmood	-	-	-	-	55	C	2.0	3	6.0	75	B+	3.5	4	14.0	50	D	1.5	3	4.5	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-A-0011	Emaan Afroz	-	-	-	-	60	C	2.0	3	6.0	67	C+	2.5	4	10.0	55	C	2.0	3	6.0	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-A-0012	Eraj Ghaffar	-	-	-	-	60	C	2.0	3	6.0	62	C	2.0	4	8.0	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-A-0013	Faryal Ali *	-	-	-	-	66	C+	2.5	3	7.5	62	C	2.0	4	8.0	55	C	2.0	3	6.0	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-A-0014	Hafeezullah	-	-	-	-	53	D	1.5	3	4.5	83	A	4.0	4	16.0	55	C	2.0	3	6.0	51	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-A-0015	Hassan Akbar	-	-	-	-	50	D	1.5	3	4.5	55	C	2.0	4	8.0	50	D	1.5	3	4.5	38	F	-	3	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-A-0016	Iqra Imtiaz	-	-	-	-	60	C	2.0	3	6.0	59	C	2.0	4	8.0	55	C	2.0	3	6.0	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-A-0017	Khairullah *	-	-	-	-	62	C	2.0	3	6.0	77	B+	3.5	4	14.0	50	D	1.5	3	4.5	37	F	-	3	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-A-0019	Laiba Tariq	84	A	4.0	4	16.0	53	D	1.5	3	4.5	75	B+	3.5	4	14.0	50	D	1.5	3	4.5	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-
B.S CS SP-2025-M-A-0020	Laiba Zahoor	-	-	-	-	80	A	4.0	3	12.0	67	C+	2.5	4	10.0	55	C	2.0	3	6.0	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## B.S (Computer Science) 2nd Semester, Section A, Morning, Session Autumn 2025

		GE266					HUM 304					HUM- 401					MT243					NC101					NC102				
		Islamic Studies / Ethics					Expository Writing					Ideology & Constitution of Pakistan					Probability & Statistics					Pre-Cal 1					Pre- Cal 2				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
000063537	Syed Imtinan Haider Gardazi (3 De	75	B+	3.5	2	7.0	-	-	-	-	-	-	-	-	-	57	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2024-M-A-0005	Ali Sarban *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	34	F	-	3	-	-	-	-	-		
B.S CS Aut-2024-M-A-0006	Arij Tabarik *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	52	D	1.5	3	4.5	51	D	1.5	3	4.5	
B.S CS Aut-2024-M-A-0021	Khadija Batool (Withheld due to Fe	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS Aut-2024-M-A-0034	Muhammad Ramzan	-	-	-	-	-	60	C	2.0	3	6.0	70	B	3.0	2	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS Aut-2024-M-A-0040	Naveed Ahmed *(Withheld due to F	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS Aut-2024-M-A-0043	Noor-UI-Huda *	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	51	D	1.5	3	4.5	
B.S CS Aut-2024-M-D-0010	Hafsa Abbas (Withheld due to Fee	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2024-M-A-0042	Syed Wasib Hussain	-	-	-	-	-	66	C+	2.5	3	7.5	55	C	2.0	2	4.0	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-		
B.S CS SP-2024-M-D-0207	Huzaifa Waheed	-	-	-	-	-	65	C+	2.5	3	7.5	80	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0001	Aayan Haider *	-	-	-	-	-	67	C+	2.5	3	7.5	76	B+	3.5	2	7.0	-	-	-	-	-	-	-	-	-	64	C	2.0	3	6.0	
B.S CS SP-2025-M-A-0002	Abdul Basit Abbasi	-	-	-	-	-	62	C	2.0	3	6.0	71	B	3.0	2	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0003	Abdul Wahab Abid	-	-	-	-	-	66	C+	2.5	3	7.5	70	B	3.0	2	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0004	Abdullah Bashir	-	-	-	-	-	75	B+	3.5	3	10.5	65	C+	2.5	2	5.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0005	Afaq Javed	-	-	-	-	-	67	C+	2.5	3	7.5	71	B	3.0	2	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0006	Afia Ghayas	-	-	-	-	-	70	B	3.0	3	9.0	61	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0007	Ahmad Nabi	-	-	-	-	-	66	C+	2.5	3	7.5	58	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0008	Areeba Rehman *	-	-	-	-	-	66	C+	2.5	3	7.5	65	C+	2.5	2	5.0	-	-	-	-	42	F	-	3	-	53	D	1.5	3	4.5	
B.S CS SP-2025-M-A-0009	Areeza Khalid *	-	-	-	-	-	65	C+	2.5	3	7.5	62	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-	52	D	1.5	3	4.5	
B.S CS SP-2025-M-A-0010	Danish Mehmood	-	-	-	-	-	72	B	3.0	3	9.0	60	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0011	Emaan Afroz	-	-	-	-	-	80	A	4.0	3	12.0	81	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0012	Eraj Ghaffar	-	-	-	-	-	72	B	3.0	3	9.0	86	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0013	Faryal Ali *	-	-	-	-	-	70	B	3.0	3	9.0	50	D	1.5	2	3.0	26	F	-	3	-	-	-	-	-	51	D	1.5	3	4.5	
B.S CS SP-2025-M-A-0014	Hafeezullah	-	-	-	-	-	67	C+	2.5	3	7.5	81	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0015	Hassan Akbar	-	-	-	-	-	50	D	1.5	3	4.5	50	D	1.5	2	3.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0016	Iqra Imtiaz	-	-	-	-	-	72	B	3.0	3	9.0	66	C+	2.5	2	5.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0017	Khairullah *	-	-	-	-	-	66	C+	2.5	3	7.5	71	B	3.0	2	6.0	-	-	-	-	-	-	-	-	-	77	B+	3.5	3	10.5	
B.S CS SP-2025-M-A-0019	Laiba Tariq	-	-	-	-	-	70	B	3.0	3	9.0	70	B	3.0	2	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0020	Laiba Zahoor	-	-	-	-	-	80	A	4.0	3	12.0	86	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## B.S (Computer Science) 2nd Semester, Section A, Morning, Session Autumn 2025

Registration #	Name	CS111					CSC 104					CSC-303					CSC304					CSC-305					GE161				
		Programming Fundamentals (C)					Social Sciences (Urdu)					Object Oriented Programming					Digital Logic Design					Discrete Structures					Application of Information & Communication Technologies				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-2025-M-A-0021	Mahnour Ishfaq (Withheld due to F)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S CS SP-2025-M-A-0022	Maryam Ashraf	-	-	-	-	60	C	2.0	3	6.0	67	C+	2.5	4	10.0	50	D	1.5	3	4.5	60	C	2.0	3	6.0	-	-	-	-	-	
B.S CS SP-2025-M-A-0023	Moviz	80	A	4.0	4	16.0	61	C	2.0	3	6.0	64	C	2.0	4	8.0	50	D	1.5	3	4.5	58	C	2.0	3	6.0	-	-	-	-	-
B.S CS SP-2025-M-A-0024	Mudassir Sajjad	-	-	-	-	55	C	2.0	3	6.0	66	C+	2.5	4	10.0	50	D	1.5	3	4.5	50	D	1.5	3	4.5	-	-	-	-	-	
B.S CS SP-2025-M-A-0025	Muhammad Adnan Khalid	-	-	-	-	53	D	1.5	3	4.5	52	D	1.5	4	6.0	50	D	1.5	3	4.5	50	D	1.5	3	4.5	-	-	-	-	-	
B.S CS SP-2025-M-A-0026	Muhammad Arslan Khursheed *	-	-	-	-	65	C+	2.5	3	7.5	83	A	4.0	4	16.0	55	C	2.0	3	6.0	70	B	3.0	3	9.0	-	-	-	-	-	
B.S CS SP-2025-M-A-0027	Muhammad Daniyal	-	-	-	-	71	B	3.0	3	9.0	71	B	3.0	4	12.0	55	C	2.0	3	6.0	75	B+	3.5	3	10.5	-	-	-	-	-	
B.S CS SP-2025-M-A-0029	Muhammad Nouman Ilyas	-	-	-	-	55	C	2.0	3	6.0	72	B	3.0	4	12.0	55	C	2.0	3	6.0	55	C	2.0	3	6.0	-	-	-	-	-	
B.S CS SP-2025-M-A-0030	Muhammad Shaiq Zafar *	-	-	-	-	60	C	2.0	3	6.0	66	C+	2.5	4	10.0	55	C	2.0	3	6.0	55	C	2.0	3	6.0	-	-	-	-	-	
B.S CS SP-2025-M-A-0031	Muhammad Umer	-	-	-	-	55	C	2.0	3	6.0	65	C+	2.5	4	10.0	55	C	2.0	3	6.0	60	C	2.0	3	6.0	-	-	-	-	-	
B.S CS SP-2025-M-A-0032	Muhammad Zeeshan	-	-	-	-	56	C	2.0	3	6.0	56	C	2.0	4	8.0	57	C	2.0	3	6.0	55	C	2.0	3	6.0	-	-	-	-	-	
B.S CS SP-2025-M-A-0033	Muhammad Zeeshan Khan *	-	-	-	-	56	C	2.0	3	6.0	60	C	2.0	4	8.0	50	D	1.5	3	4.5	50	D	1.5	3	4.5	-	-	-	-	-	
B.S CS SP-2025-M-A-0034	Nargis Fatima	-	-	-	-	60	C	2.0	3	6.0	51	D	1.5	4	6.0	50	D	1.5	3	4.5	60	C	2.0	3	6.0	-	-	-	-	-	
B.S CS SP-2025-M-A-0036	Saifullah Ahsan	-	-	-	-	55	C	2.0	3	6.0	66	C+	2.5	4	10.0	53	D	1.5	3	4.5	55	C	2.0	3	6.0	-	-	-	-	-	
B.S CS SP-2025-M-A-0037	Sakhawal Nasir	-	-	-	-	50	D	1.5	3	4.5	71	B	3.0	4	12.0	50	D	1.5	3	4.5	30	F	-	3	-	34	F	-	3	-	
B.S CS SP-2025-M-A-0038	Sameera Jehangir	-	-	-	-	65	C+	2.5	3	7.5	61	C	2.0	4	8.0	55	C	2.0	3	6.0	55	C	2.0	3	6.0	-	-	-	-	-	
B.S CS SP-2025-M-A-0039	Sapna Gull Safi *	-	-	-	-	65	C+	2.5	3	7.5	71	B	3.0	4	12.0	55	C	2.0	3	6.0	55	C	2.0	3	6.0	-	-	-	-	-	
B.S CS SP-2025-M-A-0040	Sayed Hassan Mehdi	-	-	-	-	50	D	1.5	3	4.5	85	A	4.0	4	16.0	50	D	1.5	3	4.5	65	C+	2.5	3	7.5	-	-	-	-	-	
B.S CS SP-2025-M-A-0041	Shafqat Ali	-	-	-	-	71	B	3.0	3	9.0	76	B+	3.5	4	14.0	57	C	2.0	3	6.0	55	C	2.0	3	6.0	-	-	-	-	-	
B.S CS SP-2025-M-A-0042	Shahzaib Ahmed	-	-	-	-	75	B+	3.5	3	10.5	75	B+	3.5	4	14.0	50	D	1.5	3	4.5	70	B	3.0	3	9.0	-	-	-	-	-	
B.S CS SP-2025-M-A-0043	Shahzib Nadeem	-	-	-	-	58	C	2.0	3	6.0	67	C+	2.5	4	10.0	50	D	1.5	3	4.5	60	C	2.0	3	6.0	-	-	-	-	-	
B.S CS SP-2025-M-A-0044	Shakeel Abbas	80	A	4.0	4	16.0	65	C+	2.5	3	7.5	65	C+	2.5	4	10.0	50	D	1.5	3	4.5	65	C+	2.5	3	7.5	-	-	-	-	-
B.S CS SP-2025-M-A-0045	Syed Haider Abbas *	-	-	-	-	52	D	1.5	3	4.5	67	C+	2.5	4	10.0	50	D	1.5	3	4.5	50	D	1.5	3	4.5	-	-	-	-	-	
B.S CS SP-2025-M-A-0046	Syeda Kubra Bashir *	-	-	-	-	73	B	3.0	3	9.0	80	A	4.0	4	16.0	56	C	2.0	3	6.0	55	C	2.0	3	6.0	-	-	-	-	-	
B.S CS SP-2025-M-A-0047	Wisal Khan Safi *	-	-	-	-	65	C+	2.5	3	7.5	81	A	4.0	4	16.0	50	D	1.5	3	4.5	50	D	1.5	3	4.5	-	-	-	-	-	
B.S CS SP-2025-M-A-0048	Yusra Altaf	-	-	-	-	65	C+	2.5	3	7.5	60	C	2.0	4	8.0	55	C	2.0	3	6.0	65	C+	2.5	3	7.5	-	-	-	-	-	
B.S CS SP-2025-M-A-0049	Zainab	-	-	-	-	60	C	2.0	3	6.0	65	C+	2.5	4	10.0	55	C	2.0	3	6.0	50	D	1.5	3	4.5	-	-	-	-	-	
B.S CS SP-2025-M-A-0050	Zonayesha Kaleem	-	-	-	-	71	B	3.0	3	9.0	75	B+	3.5	4	14.0	55	C	2.0	3	6.0	58	C	2.0	3	6.0	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## B.S (Computer Science) 2nd Semester, Section A, Morning, Session Autumn 2025

		GE266					HUM 304					HUM- 401					MT243					NC101					NC102					
		Islamic Studies / Ethics					Expository Writing					Ideology & Constitution of Pakistan					Probability & Statistics					Pre-Cal 1					Pre- Cal 2					
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	
B.S CS SP-2025-M-A-0021	Mahnour Ishfaq (Withheld due to F)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0022	Maryam Ashraf	-	-	-	-	65	C+	2.5	3	7.5	55	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0023	Moviz	-	-	-	-	66	C+	2.5	3	7.5	76	B+	3.5	2	7.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0024	Mudassir Sajjad	-	-	-	-	71	B	3.0	3	9.0	50	D	1.5	2	3.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0025	Muhammad Adnan Khalid	-	-	-	-	62	C	2.0	3	6.0	51	D	1.5	2	3.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0026	Muhammad Arslan Khursheed *	-	-	-	-	70	B	3.0	3	9.0	72	B	3.0	2	6.0	-	-	-	-	-	-	-	-	-	63	C	2.0	3	6.0			
B.S CS SP-2025-M-A-0027	Muhammad Daniyal	-	-	-	-	75	B+	3.5	3	10.5	72	B	3.0	2	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0029	Muhammad Nouman Ilyas	-	-	-	-	70	B	3.0	3	9.0	75	B+	3.5	2	7.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0030	Muhammad Shaiq Zafar *	-	-	-	-	75	B+	3.5	3	10.5	60	C	2.0	2	4.0	-	-	-	-	-	-	-	-	59	C	2.0	3	6.0				
B.S CS SP-2025-M-A-0031	Muhammad Umer	-	-	-	-	61	C	2.0	3	6.0	52	D	1.5	2	3.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0032	Muhammad Zeeshan	-	-	-	-	66	C+	2.5	3	7.5	60	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0033	Muhammad Zeeshan Khan *	-	-	-	-	67	C+	2.5	3	7.5	77	B+	3.5	2	7.0	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5				
B.S CS SP-2025-M-A-0034	Nargis Fatima	-	-	-	-	66	C+	2.5	3	7.5	65	C+	2.5	2	5.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0036	Saifullah Ahsan	-	-	-	-	75	B+	3.5	3	10.5	77	B+	3.5	2	7.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0037	Sakhawal Nasir	-	-	-	-	60	C	2.0	3	6.0	55	C	2.0	2	4.0	14	F	-	3	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0038	Sameera Jehangir	-	-	-	-	80	A	4.0	3	12.0	51	D	1.5	2	3.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0039	Sapna Gull Safi *	-	-	-	-	75	B+	3.5	3	10.5	75	B+	3.5	2	7.0	-	-	-	-	-	-	-	-	53	D	1.5	3	4.5				
B.S CS SP-2025-M-A-0040	Sayed Hassan Mehdi	-	-	-	-	66	C+	2.5	3	7.5	56	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0041	Shafqat Ali	-	-	-	-	65	C+	2.5	3	7.5	86	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0042	Shahzaib Ahmed	-	-	-	-	66	C+	2.5	3	7.5	50	D	1.5	2	3.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0043	Shahzib Nadeem	-	-	-	-	70	B	3.0	3	9.0	77	B+	3.5	2	7.0	16	F	-	3	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0044	Shakeel Abbas	-	-	-	-	70	B	3.0	3	9.0	50	D	1.5	2	3.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0045	Syed Haider Abbas *	-	-	-	-	62	C	2.0	3	6.0	77	B+	3.5	2	7.0	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5				
B.S CS SP-2025-M-A-0046	Syeda Kubra Bashir *	-	-	-	-	70	B	3.0	3	9.0	81	A	4.0	2	8.0	-	-	-	-	-	-	-	59	C	2.0	3	6.0	59	C	2.0	3	6.0
B.S CS SP-2025-M-A-0047	Wisal Khan Safi *	-	-	-	-	75	B+	3.5	3	10.5	65	C+	2.5	2	5.0	-	-	-	-	-	-	-	-	68	C+	2.5	3	7.5				
B.S CS SP-2025-M-A-0048	Yusra Altaf	-	-	-	-	71	B	3.0	3	9.0	55	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0049	Zainab	-	-	-	-	70	B	3.0	3	9.0	51	D	1.5	2	3.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS SP-2025-M-A-0050	Zonayesha Kaleem	-	-	-	-	70	B	3.0	3	9.0	56	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

**Ghayyas ud Din**  
Controller of Exams

Result declaration date: 23/02/2026